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From the syllabus: In order to achieve an “A”: Consistently A) rff’ﬂ
B e

* correctly identifies underlying physics concepts, 7.E
* sets up problem with good drawing and reasons, 7
* formulates method to solve problem,
* correctly uses units and CORC AT At
* verifies whether answer makes sense.
An answer alone is worth no credit. Please estimate answers: don’t leave
them in roots, trig., fractions. )

A 10 kg object is shown against a frictionless wall that is leaning at an angle
of 30° as shown.

a) If I push horizontally on the box as shown with a force of 100 N, what is
the box’s acceleration? — please include direction and magnitude
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b) What is the normal force acting-on-the box? — please include direction and n;agnitude

-V (ﬁ]/»m/z-—%é&t, fecorear

eensBr ST AONE + Bk +F
’ vt s LR
ﬂ\l (\;L;H;-‘ﬁ ( 5‘7‘@7‘%55

NOYmial force  would be 126N 1N 4he  Positive
Aodvrect ony  gince e s o accChoraren
Y, S

MM xedipetion AHa nornal foice 1

unq\ ‘%O‘\OQOSHO do At SUMY OF e fevees

Al xedivection, Bt graoty Aae <

/7’1?# g,.Z’f_,M Cfémfwum% //2/; Q_; M &J{/;Q

bl wcrmg  frsrr cinface




Midterm #1, 141, Q3 Schwartz Nam

_ . 9%@4 y
From the syllabus: In order to achieve an “A”: Consistently “~
* correctly identifies underlying physics concepts,
* sets up problem with good drawing and reasons,
* formulates method to solve problem,

. o
* correctly uses units and

* verifies whether answer makes sense. |
An answer alone is worth no credit. Please estimate answers: don’t leave
them in roots, trig., fractions. |

A 10 kg object is shown against a frictionless wall that is leaning at an angle
of 30° as shown. Muts A CM/

a) If I push horizontally on the box as shown with a force of£4100 N, what is
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b) What is the normal force acting on the box? — please include direction and magnitude I ) |
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